Calculus 1: Integration Review Name Date

1) Calculate the area between the given limits, then calculate the total area by treating all

3
areas as positive) for the graph of I(XB —-3x+2)dx . Sketch the graph and shade the area
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under the curve,

2) Calculate the area between the given limits, then calculate the total area by treating all
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3) Caleulate the area under the curve of g(x)-x*-2x>+3 from x =12 to x = 4.4 using 18

rectangles.




4) Caleulate the area under the curve of £(x)=x*-3x%+.x+4 on the interval [0.5,3.1] using 24

rectangles.
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Integrate the following. Make sure you show all your work and set-ups as required for each
problem.
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Solve for the constant of integration given the derivatives and a point of the original
function.

1) #(x)=[Ixax  (12) 12) £'(x) = [(sec® x —sinx)dx (2,1)
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Use the Fundamental Theorem of Calculus for Area to calculate the definite integrals,
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. .\Use the Fundamental Theorem of Calculus for Derivatives to find &'(x).
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19) Find the mean (average) value and where it occurs for f(X) = x? - 8x +18 for the
interval |2,6].

20) Find the mean (average) value and where it occurs for f(X) =sinx +cosx for the

interval [0,3%]
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